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Raup (1962, 1966), Raup & Michelson (1965)
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# -*- coding: utf-8 -*-

def main(): python
print("Hello, World!")

[>>> print(“Hello, World!”)|

if name_ == '_ main__ ":
main() ipython
|$ python hello.py| [In [1]: print(“Hello, World!”) |
base (root) Name v /_ l\ 7“y 7i%iﬁ
I compbio b OpenTerminal T

Open with Python T TSRS ——— a

Open with IPython

Open with Jupytar Notebook
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print(“Hello, World!”)

Hello, World!
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type(a) int
type(b) float
type(c) str
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#include <stdio.h> #include <stdio.h>

int main(void){ int main(void){

for(int i = 0; i<10; i++){ for(int i = 0; i<10; i++){
for(int j=0; j<10; j++){ for(int j=0; j<10; j++){
for(int k=0; k<10; k++){ for(int k=0; k<10; k++){
printf("%d, %d, %d\n", i, j, k); printf("%d, %d, %d\n", i, j, k);
} }

} }

} }

return 0; return 0;

} }
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.append(1)

.append(2.90)
.append("3rd")

[]_CEIJ}, BEREHUV (,) TRXt)5 a.append("HEEBE")
#:a=[1,2,-5,"6" "compbio", [3.5, 5, "$iB4Y"]]| |°-2rrend((olD)
p

.append("b2")

.append(b)
rint(a)
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import math
import matplotlib.pyplot as plt

INYT—2 DERHIAS

x0=10.0
« import /\y r—o x=[x0]
o xa=[x0]
INY T =D ZEHmPIAD a=1.2
_ . = dt=0.01
. import /Vy 77— as E&fin t=[0]

O TS st a4y | |for 1 in range(1,1000):
IV T — VR & LTHRGAD xa.append(x0 * math.exp(a*dt*i))

xx=x[1-1]+dt*a*x[i-1]
x.append(xx)
t.append(dt*i)

plt.plot(t, x)
plt.plot(t, xa)
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